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gboooooboobooboobobooooobobooooobooboooo
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000000 KOOOOUOOOoOoOo|K|oooooooooooooo
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gooobano (6::__1)DDDDDDDDDDDDDDDD2k+1—1DDD

000000 k0000 (vw...v,)00000000000000000 K,
00000000 |K,|=00000

(2) k>00000Ks, =K,\{oc}00k—-1000000000000
|Kso|0Ok—-100000000000

(3) nO0O0D0DO00 K = (Sp,...,8), 0 L k< n0000K® =
(So,...,S,) 000O0OK®»ODODODODODODODODK®O KO kOO (k-
skeleton) 00 O O

o0o000oooooooog K =(Sy,...,8,) 000008, 00000
kOO0O0D0OD0ODO000000000000S,0k+10000000000
gbobooboobdoboooboobobooooobobooooboooooonog
gboooboobdboooboobooboooooboooobooboooooonog
ooooooooo

27.3 0000

00 27.5 n00000000 KOOOOOOOOOOOO V = S0
k=1,...,n00000VOk+100000000000000 S;00
K =(S8,5,...,5,)000000000000000-,000000000
0S, #0000

e 05¢<k0000S,00 0=1{vy,...,0} 0 ¢+100000000
000 7={vi,...,v;,} 0 S, 000000

S, 000 kO0ODODOO0OOO0KOODOODODOsO0O0OODOODOOOOO
O0/00 7000044000000 (face) DOODODOKODOO 70 KOO
ODecO00O0ODDOODOOOr=<cbOOO0ODOOODOODODKOOOOOOO
OO0 KOODOOooooooooooo

000000000000000000000000000000S8,00
c0000 0= (v---vp) 0000

002750000000 K =(So,...,5,)0000000000 V=2,
000000000000000000S,000000000000000
00000000000000027.300000000000000000
0 KOOODOOO |K|0D00000000000000000000000
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00276 0000 KOOOOOOOOOOOOOOOOO Ky, Ko 0OO |Ky|,
|K,|00000D0000000000000000000000000000000
0000 |K| — |Ko|000D000D0000 KOOD |K|0000000000
0000000000000O0NDOODOODOODOODOOOOO N
0000000000000000000000000000000000
0000000000000

002770 (1) k+1000000000V ={vy,...,v} 000000
000000000000000000 k000000 KOOOOOOO0O
00000000000000000 k0000 0= (v...v) 00000
0000000 K,0000000000|K|=|K, =c0000

(2) (1)0 KOOOOK\{V}0Ok-10000000000000
IK\{V}| = |Kaso| ~ S*1 00DOD

0000 XO00O00000 KOO0 |K|D0O0O000000KO X0O0O
00000000000k O0D000 DFO0000D00KDO0 0000 K,
0000000000k -10000 §~1'000000 K, 0OODODODO
0o0ooo

28 OJUObOOobObOOoobooobooon

0000000000000 00000000D000000000000
000000000000000000000000000000000000

00000000000000K =(V=_5,51,...,5,)0 k000 K®
O000KDO00O00 |K®DOooOo

K| = |K(n)| S |K(n71)| 5. |K(1)| 5 |K(O)|

ODoooO|K®| o |K*Y0DpFo000kD00ee S 00000000
00 |Kpo|0OODO Koo — K*V0OO0DO000000 |Kpp| — |[K*)
D0000000000D000000|K|000000000000000
000000000000000
O000000000000000000000000000000CK4(K)
0S8, 000000000000000000

C(K): 02— Co(K) +2— Oy (K) +2— Co(K) +2— -
DooooO
00000 800|Ks| — |K* Y| 0000000000000000
00000000000S,00 (v---v) 0000000000V O000
000O0O0w,...,» 0000000000000000000000KOO
00 (vovr---v) 0 k—100000 (vo---vj—10j41---n) (=0, ..., k)
0k4+1000000
00000000009 0000000000O0

d{vovr) = (v1) — (vo),
O(vov1v2) = (v1v2) — (Vov2) + (Vov1),
O0(vov1v2v3) = (V1V203) — (VoV2U3) + (Vov1V3) — (VoV1V2),
cvp) =Y (1) {vov1 - Vi1V - vp).
=0
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00281 0000000000000000000000OO0OOOOOO0O00
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0000 f:8"'— S (fo=id, i=f)0000000D S '000ODO
vrtooooosth st Ut o (st st f(urTh) 0oooo
Go[S" T =[S ST\ UM = g1k (U™, 00U ),
g[S =[S SN FUTTY] = dpn-ny((FU1), 0 U™ H)))
U000 fO000000C00000000O00O0D0O00O00DODOOOOOO0

O0000000000000000000000000000000
9.[D™,0D" =[S""'|0DD00D0000000

§«0[D™,0D™] = ipn-1.[D" ", 8D" )
0000000000000000000

ipn-1: (D" D" ") — (ST, 08T

a,
x:(xl,...,mn_l)%( 1—”13”2,331,...,.%”_1)
dobopooooooobobo
goooobdwv —wve, v2 —v0, -.., Uy —vo OO
det(vl—vo Vg — Vo - vn—v0>>0
ooooooo

n

O(vo -~ vn) = Z(—l)i@ovl S Ui_1Vig1t Un)

i=0
gooboooobogod
goooboboogooobobooouoooboooobbooogobbooo
oooooooooboooooOobOoooooobooboboooooboo s,oooo
k

D00D00000000000000000 dvo---vk) = Y _(=1)"(vo -+ vio1vig1 -

i=0
gbooooobobooobooboooobooboooooobobooon

a <’U()""@""Uk>|:| ’U1|:||:||:||:||:||:| <UQ---Ui_1Ui+1---Uk>DDDDDDD
goo

i=0
k i—1
=D (1Y (1) (vo - Ty By wp)
i=0 7=0
k k
Y (DY (1) g B Ty )
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=S (D) g T
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0000000 j<i00000wv,v 000000 (vovy - 0i -0 -+~ k)
000000000 (-1, 00000 (-)"-'0o00000o000000
0000000000000 O0000O000O000DOO00D00O00
0000000000000 O0000000000000DOO00D0000

000000000000000000000
n00000000000000

nt1l) 9 F) n41 n+1 n+1

)&z 2 2 z05) 2 z(W) 2 zGE) 2
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000000000000000000000000000000000
00000000000000000000
00000000 (v---v,) 0000

R (L
0 (’LQ = 0)
0000 (H + Hd) vy ---v;,) 0 k>0,ip>00000

k
- a<vovi0 o 'vik> +H (71)j <vi0 C Vi g Vigyy vik>
=0

J

M-
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=

= <vi0 o 'vik> - (71)j <1)0’Ui0 T Ui Vi vik>

J

J
= (Vi " iy,

k
+ (71)]- <U0Uio T Uiy Vi vik>
=0

k>0,ip=00000
(8H+Ha)<vtovtk> - <vi0"'vik>

god
(vi) = (vo) (1 >0)

0 (i = 0)
O000000000r: Cuo) — Cu(o)O0Or((v:)) = (vo), r({viy -+ -v;,)) =0
oooooodroooooo0obob0d—-r=0H+HoOOOODQOOO
O00ids = 7. : H(Ci(0)) — H.(Ci(0)) DO 0O Oc: Cu(o) — Cu((vo)), @ :
Ci({vo)) — Ci(0) D0 OO DOcoi = ide, ((ve)) O O O Ocwoin = idy, (0. ((vo))) -
ioc =r0000ik0ck = 1re =1dp, (¢, (o)) 00O OHL(Ci(0)) = Hi(Ci({v0)))
good

@H+H®@0{

0002820 X,Y,ZOOOOODOOOOODOOOOOOO

X ={(z,y,2) € R® | ((x2+y2)1/272)2+22: 1}
U{(z,y,2) € R® ly=0,(z-2)2+22=1}

Y ={(z,y,2) € R® | 22 + >+ 22 =1}
W{(z,y,2) ER* |z =y=0,[z| <1}

Z={(z,y,2) e R®* | (@ + 1)+ 1>+ 22 =1}
U{(m,y,z)€R3 ’ y=0,(r—1)2+22=1}

(1) X,Y,Zz0ooOoooooooooooooo

(2) X,Y,ZzO00O0OUOOOOOOOOOOOOOOOUOOOOOoOOOO
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(3 Y, ZzOoOooOoooOoooooOooOooooooooooooooo
goo

000 2830 U000 X,YOOOOO (oin)X+«Y OOOO XxY =
Xx[0,1]xY/~000000000000000 ~0O0

(z1,t1,91) ~ (T2, to, o) <= (t1 =to =000 2y =a9) D00 (t =t, =100 y; = y2)

goooooboobooon
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(1) Sk«St~Sk+lnonnon

(2) X={p}0OOOOO0ODODODO0OOO{p}*xYDOYOOO (cone)
O00O0{p}*xY 000000000 DOODOODOODOOOOODODOOD
000

(3) X=8"={-1,1}00008°+«Y 0 Y OO0 (suspension) 0000
YyDODOOOOOOoDOo0S’xyooooooooooo

0000000000 of = (vy---vk), of = (wo---we) ({vo,..., vk} N
{wo,...,w,}=0)00000000000000 o*%0° = (vg - - vpwo - - - we)
oooooo

O000000 K, LOD0O0O0000000000000000 K+L
O0KOOOOLOOOOKOOOO LOOOOOO0OO0D000000000
0000000000000

000 2840 (1) O0OOOK,LO0O0OUO0 K+«LOOOOOOOOOO
goooboooboboobooobooon
(o x o) = o} — a(,
¢2100000(0% o) = o — g * (0c*),
k=2100000(ck 0% = (90%) x 09 + (=1)F+1o*,
k,0>100000(c% o) = (0c%) x o' + (=1)FT1oF % (90t)
(2) K=()O0OOOOO(h)+LOD00000000000000000

29 0OOOO

obooobOoboooooboobooooooboboooooooooon
goooooooobooogobooooog

00 29.1 (0000) 0000000 Ky, K,00000Ofy : V(K;) —
V(K,) DOK, 0000000000 {vo,...,v} 00 fur({ve,...,v}) O
K,00O0DOO0O00000000000000000000000000

0000 f: K, — K, 000000 Ky, K, 00D |Ky|, |Kx]000D00
If|: |K1| — |K2|0 000000000 (ve---v) 000000 (to, ..., t)
k k

O [f1Q tivs) =) tifv(;) 0000D000000000000000
=0 =0
DOoooooo

0000 f00000000000000O0 f£00000000000
0044000 jo---5 00000
. (JoJk
<Uj0"'vjk>251gn<~ . ><'Uio"'vik>
10Uk
0000000000000 [SkY,0000 [DF,oD¥0000 -1000

oboooooboooocoog
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(fv(vo) - fv(vk)) i# 7 0000fv(v) # fv(vy)
0 00 i#j0000fv(v) = fv(vs)
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00004 000000000000000000i#;000 fu(vw) # fv(vy)
ooooo

I fv(vo) - fv(vk))
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*
—
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—~
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o
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T.
—
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o7
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fe(O{vo -+ vk))
= f*(zk:(—l)e@o V-1Vt VE))

~
I
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=(=1)"fv(vo) - fv(vi—1) fv(vig1) - fv (vg) -+ fv(vr))
+(=1)7{fv(vo) - - fv(vi) - -~ fv(vj—1) fv(vjg1) - fv (vr))
—0

O000¢#44¢,j0000f00000000000000000000 fy(v)
ooobdj—:— 100000000000 0ODOOODOOODODOODDOO
goooboobooboboobobooboooboboobbooboboobobooboobooboo
goodobobobbooooouobbbboooooooubobobobo
o000 f: Ky — Ky,g: Ko — KsOOO gof: Ky — KsOO
000000000000 0000000000 f : Cu(K1) — Cu(Ka),
g« Cu(K2) — Cu(K3), (go fl« : Cu(Ky) — Cu(K3) DDDDOK,
D000 o 00006(fu(0)) = (go f)s(c) DODODOODgs o fo =
(go f)u: C.(Ky) — C.(K3) 0000000000000 0000000
fo i Ho(Ky) — Ho(K2), g« : Ho(K2) — H.(K3), (9o f)s : Ho(K1) —
H.(Ks)OOOOO geofu=(gof): Ho(Ky1) — H(K3)OOOO

30 Uoooooooboobod

000000000000000000000000000000000
0000000000000000000000000000000000
00000000000000MO000000000000000000
000D 000000000000000000000000000000
00 KOOOOOOOOO LOOO0000000000000

0000 KOOOOOOOOO LO00000000000000 K, LO
000000 C(K), C(L)000000000000000000000
0000 (K|,|L)0000000000000

000000000 L00000 KOOOOO0OO040000000000
000000006, :C(L) — C.(K)DDD0000C.(L) C C.(K)DO
000

00000 Z0OD0O Cu(K,L) = Ch(K)/Cp(L) 00000000000
9 : Ch(K) — Ch_1(K) O d(Cw(L)) € Cror(L) DODDA : Cup(K, L) =
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Ck(K)/Ck(L) — Ck_l(K)/Ck_l(L) = Ck_l(K,L) ogooooo
C.(K,L): 0«2 Co(K,L) <% Oy(K, L) 2 ...

0000000000000000000000000000000000
0 (K,L)00000000000H,.(K,L)0D0D00

000000 (K, L), (K2, L) 000000000 f: Ky, — Ko O f|Ls
0L, 00000000000000000000000000000000f:
(K1,L1) — (K2, L) 000000000000000 f,: Cu(Ky, L) —
C.(Ky,L)00000000000 f: (Ky, L) — (Ko, La), g: (K1, L) —
(K2,L,)0000000000000000(gof)e=g.0f, 000000
0000 (K,L)DO0Oidgp)« =id : C.(K,L) — C.(K,L)0D 0000
000000000000000000MO00000000000000

000000000000000000000

0 — C, (L)~ CL(K) -2 C.(K, L) — 0

000000000000000000000000
000000000000000000000000000000000
000000000000000
0000000000000000000KOOO0O0O0000 Ky, KO
000 K=K UK, OO0OOO00K;,=K NK, 00Ky, K, KOOO
0ooooooo
00000Ck(Ky, K1) = Cu(K1)/Cr(K12) O Co(K, Ky) = Ci(K)/Cr(K>)
00K,000000 K,0k000000000000000000 Ck(Ky, K1) —
Cv(K,K,)000000000000000000§0000000000
00 Hy (K1, K12) & Hy(K,K;) 00000000000000000000
oooo

0 —— Cu(K1) —=— Cu(Ky) —2 Ou(K1, K1) — 0

l ! l

0 —— Cu(Ky) —=— CJK) —2 CJ(K,Ky) — 0
0000000000000000000

o
Hy (K4, K12) —— Hp_1(K12)
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Hy(K, Ky) —2— Hyp_y(Ka)

0000000 He({v)) 000ODD0DO0O000D0OO0O00O00DO00+—
Z (n=0)
0 (n#£0)
000000000000 000000D00O00DOO0000O000D0O00
0000000000 DODOO0OO00000000000D0DO(X,4) 0000
0O (KY, LY, (Ki,LY), (v,B)DOOOO (K9, LY), (Ki,L))0ODOO0OO0O
00000000000 (X,A) ~ (|KY,|ILY) =~ (K}, |LY), (YV,B) ~
(K9, |LY]) ~ (|K3l,|Li)000000000000000000000
hiw: Ho(KY, LY) — H.(K{,L}), ho.: H (K3, L) — H.(K3,L}) 000
0000000000 fo: (KY,LY) — (K9, LY), f1: (K], L) — (K3,L3)
ooo |fl, A0 (X,A) — (Y,B) 0000000000 0O000DOOO
0000000 hosfosx = frshis.

Z@M—MDDDDDDHJ@»:{ 0000
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00000000o0oo0o0ooo Poo0oooooooo

oboooooobooboooboobooboooooboboooobooooon
gboooooboboooboobobooooobobooooboobooonoo
goooooobooboooboobobooboooboobooog

00 30.1 000000 C,,C.000000000 f,, ;00000000
0000000000000 h:C, — Cy 0 8h+hd=fo— 1000
ooooooon

00 30.2 00000000000000C,, C.000000000 f, fi
0000000000000000000000000000000000
00 fo, f1s: Ho(C.) — H,(C,) 00000000000000

31 0OO0OO0OO

00000000000000 KOODO o0OOOO Star(o)d 00000 o
O0000000000000 Star(o) = UTDDDDDDDDDDDDDD

o<T
00000(e)0¢00000000000000000 Oe)= | Int(r)

o<T

goog

k
000 3110 Star((vy...vx)) = [ | Star(v;) 0000
=0
00000000000000000 A0000000000000000

goooooobom

000 31.20 Star(e) 00000 pd ¢000000 00000 (1—t)p+iq
(te0,1)000000000000

000 31.30 g¢:|Ki| — |Ko|00D0OD0OO0K, 000 0000000
g(Star(v)) 0 K, 0DOOOD fy(v) 0000000000000
(1) fy000000O0OOO0OOOOOO
0000 Star(v) € g~} (Star(fv(v) 0 K1 000 (vg...v) 00000
k

(Star(v;) #0 000000000
=0
(2) fy000 f0¢0000000000000000

32 0000

000000 KOoOoOooooooooo v, gk0oooog Sy,00oo
k

1
k0O o= (vg...0,) 0000 by = —— .0O000000oo0ooo
o= (vy...vk) o k+1;%w

s00000000-0000000000000
000000 {b, | 7 <0},
000000{0rn..; = (brobry ... br))| o <7 <+ <7;} 00000
0000000000

D000 KOODODODOOO K'000000000000000000
D0000D000DKOODOOOOOO0OOO
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U1 0000000

bsd : Cx(K) — Ci(bsd(K))0OOOOO0D00

bsd(o) = Z Sign(7o71 - - - TE)Orory .7
To<T1 =" <Tk

00007 = Kvg...v,)| 000000 ¢ 00000sign(ro71...7%) =
sign(i...ix) 0000

000 32.10 (0) OD0DO0O0O0O ., 000000000D0OO0DODOODODOO
gooooboobooboobooboobooboobooobo

(1) D000 KOUOOObsded=00obsdOO OO
9) bsdO H.(K) — H,(bsd(K))0O0OODDOO0OO000ODOOOO

(
(1) KOOOOOOOOOOOOOOOO0OO0O0OO
(22) K'OKODOODOOOOO o(00O0)000000000000
(2-3
1o 1o lo
/ (iK,7i0') ’ jK/ _jzf
0= Co(K' No) ~2% (K" @ Co(o) 2597, 0y(K) — 0
lo lo lo
0 = Cy(K'No) L), CLE") @ Oy (o) 2797, ¢y (K) — 0
lo lo o
/ (iK’7iU) / jK/ _jzf
0= Co(K'No) —— Co(K') ® Cy(0) ——— Co(K) = 0
l l l
0 0 0

0000 bsdOOODODOODOODOOODOOODODOOODOODOODOO
Obsd, DODODOOOO
IR« —Jox* Ay

A H(K No) AUSLILAIN H;(K') & H; (o) Ixrxdox, Hi(K) 2% H (K no)
| bsd bsd | bsd | bsd

(ipsa(iy = ibsd(o) =) sa(i’)y= —dbsd(a) =
255 H; (bsd(K') N bsd(o)) 22D D pr(hsd (K)) @ Hj (bsd(0)) st 024" pr(bsd (K )22 H,_y (bsd (K') N bsd(c))

(2-4) ODOOOOOOOOOOO

000 32.20 0OO000000g: |K| — |K,]0000000 NOOO
000000 f: (bsd)V(Ky) — Ko 0O |f|~¢00000000000
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33 UoUogogd

0000000 K, LOOOOOD |K|x|L|0O0DO00DDO000ooo
00000000000000000000000000|K|x |L|000
000000000000000Kk0000 of = (v---vx), 40000
mt=(wo--)000 " x7r*00000000000u, = (v;,wj) € 0" x7°
DDDD(ia+1aja+1) = (ia"‘laja)DDD (ia+1aja+1) = (ia,ja“‘l)DDD
O00=dy = Sigre =k 0=13g = -+ = jrye =¢ 000000
w%”ﬂﬁgmmmmmmmmmmmmm<k26=<%26DDDDD
0000000000000000

U K(uf0~~~u?k+£)
(ia+1sda+1) = (ia +1,50) 000 (fat1,jat1) = (iarja +1) 0 FF°
O¢x70000000000
00 [0,1]xKDO0D000[0,1]xe*00000000 = (0,v:), v} = (1,v;)
ODo000000D0O000000
KO kKOO (vo---v) 00000k+100 k+100 (000} ---0})
(i=0,...,k),k+200 k00 (00?0}, --vf) (i=-1,...,k)000
oDoooooo

0ooooooooo
000 33.10 o= (v--v) 0000

gooooo
OPo + Pdo = (v ---vp) — (v - v})

oood

0,1]x KDOOODOOOOK x{0}00 KOOOODOOOOOK x{1}0
0 KOOOOOODOO0OOO0OOOooo0o
v; = (0,v3), by = (1,b,) 000000[0,1] xe 0OOO0D0000 L, 00

k

Lo = (bo) * Ko U | Lo,o
1=0

D0000008(vo -+ vk) = (o vi—1vi41 -+ ) 000000000 Lo
ceK
0000 (0,1 x|K| 000000000

000 33.20 bsd : Cu(K) — Cy(L) O bsd(v) = (b,), dime =2 100
O bsd(o) = (by) * (bsd(0o)) OO0 OO OOBSD : Cu(K) — Cuyr(L) O
BSD(v) = —(b,) * (v), dimo 2 1000 BSD(c) = —(by) * (BSD(90) + o)
gooooo

OO0O0O0O00BSDe+BSDJo =bsdo—c 0000
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34 00oggQg
000 28.20000000
000 2830000000

000 28.40000000
(2) Co((0)x L) DO DD (b), 0, By xc 0000

H({b)) =0
H(o) = (b)
H({b) x o) =0
oogo
(0H + HO)({b)) =0
(8H+H8)(0):8((b>*a)+H(8 )
— (b) dimo =0
{ (80)+H(8U):a dimo > 0
(OH + HO)((b) x o) = H( ( * (00))

H(o) = (b) xo

0000000007 : Cu((b)*L) — Cu((b)+L) O Or((b)) = (b), r(c°) = (b), i >0
0000r(c")=0,7((by*0)=00000000-00000000000id—r =
OH+HOODDOOODDOODOOids = ry: Ho(Cu((byx L)) — H.(Ci((b)* L)) OO
O0c: C*(<b>*L) — C*(<b>), 7 C*(<b>) — C*(<b>*L) OO000O0Ocor = idc*(<b>)
O000Ock 0t = idH*(C*((b>))~ toc=rUO000t 0ck =7 = idH*(C*(<b)*L)) g
000 H(C.((b) % L)) = H,(C.((b))) 0000

oobO33.100000

k
OPU—I—P(%T—@Z g - --v?v}---vi)—I—PZ(—l)j(vo---sz---vk)
=0

k
=D (1) (=Dwg vl g v

0
k
D D ool o)

000 33.200000BSD({(v)) + BSDO((v)) = 9(—(by) * (v)) = —9(byv) =
(by) —(v) DO00OD0OBSDo+BSDdo =bsdo—c 0 k—100000000000O
0000kDD ¢ 000 80 0000 dBSD(0) + BSD 8(d0) = bsd(do) — (o),
000D00ABSD(d0) = bsd(do) — (90) 00D DOOO0DOOO

OBSD o + BSD 0o = 9(—(bs) * (BSD(do) + o)) + BSD do
—(BSD(d0) 4 o) + (bs) * (BSD(dc) + o) + BSD do

—0 + (bo) * (bsd(do) — (00) + do) = bsdo — o
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